HMANIE BT 4

PEIEMAE | 2 EIER
DEIEME - HFEREHE
EH 22122.
ERER
FREIFERANERS|#EA.
ME bk
PN} BHERETHRIEIEMEHERE EH
C W nE 22120.)o
o TH#SH 1.4305 12k
178 11) FEHRTBRES , HEEUAHEN,. RELCR
. BMATER (POM) B TREME (HEBWRIA), HEIERE
E ] IRVAEN
EER T EHEM D LB
- i, Wit T2ET,
- TEEH 14305 , $E8R
£ AEEE
- BEHPAG, BRE , EHE g%ﬁ%ﬁﬁ%é
/) /’ EO
EZEM

- EUHE, BRARD RSN EIE M
- IEMRER ERARD EEME
« XEE, BARD ERe NS BIEVE

H
ds
WS
| e ]
=
m ] A
S I\
[/
o | di | lock nut
ds 22120.0116 - .0118 (Steel)
22120.0516 - 0518 (Stainless steel)
FTEE
R& ws BEAE 8 [
dq d, I, ds l4 I3 Iy Fq F, min max.
-0,02 min ~ ~ ~
-0,04
[mm] [mm] IN] rcl [l
#
6 M12x1,5 6 30 53,5 22 6 19 6,5 19 -30 80 49 22122.0205
6 M12x1,5 9 30 53,5 22 6 19 6,0 25 -30 80 49 22122.0210
8 M16 x 1,5 8 30 59,5 26 8 19 8,5 26 -30 80 75 22122.0215
8 M16 x 1,5 12 30 59,5 26 8 19 8,5 28 -30 80 78 22122.0220
10 M16 x 1,5 12 30 59,5 26 8 19 9,5 38 -30 80 79 22122.0225
" gEtaE
WHALDER A2
FIEFE: 12.10.2023



http://halder.com/tw/22122.0205
http://halder.com/tw/22122.0210
http://halder.com/tw/22122.0215
http://halder.com/tw/22122.0220
http://halder.com/tw/22122.0225

HMANIE BT 4

DEIEMAE / 2 EIRe
R¥ ws BEAE" § ]
d, dy I ds l4 I3 Iy F4 F» min max.
-0,02 min ~ ~ =
-0,04
[mm] [mm] [N] [°C] []
TEE
6 M12x 1,5 6 30 53,5 22 6 19 6,5 19 -30 80 49 22122.0305
M12x 1,5 9 30 53,5 22 6 19 6,0 25 -30 80 49 22122.0310
8 M16 x 1,5 8 30 59,5 26 8 19 8,5 26 -30 80 75 22122.0315
M16 x 1,5 12 30 59,5 26 8 19 8,5 28 -30 80 78 22122.0320
10 M16 x 1,5 12 30 59,5 26 8 19 9,5 38 -30 80 79 22122.0325
Vet i9E
e
R~ WFRY i Rk
d;
[mm] [mm] ]
M12 x 1,5 18 7,5 22120.0116
M16 x 1,5 24 15,0 22120.0118
M12x 1,5 18 7,5 22120.0516
M16 x 1,5 24 15,0 22120.0518

L A5

BREFENERES  BREMENER.

HE2m2

EEHALDER FIE7E: 12.10.2023


http://halder.com/tw/22122.0305
http://halder.com/tw/22122.0310
http://halder.com/tw/22122.0315
http://halder.com/tw/22122.0320
http://halder.com/tw/22122.0325
http://halder.com/tw/22120.0116
http://halder.com/tw/22120.0118
http://halder.com/tw/22120.0516
http://halder.com/tw/22120.0518

